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*Every Correct answer will add 2 Marks
*Every Wrong answer will deduct 1 Mark

Time : 1 hr. 30 min
Full Marks : 160
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10.

11.

12.

13.

14.

As a child you have about bones.
a. 206 b. 306
c. 400 d. 450

What is bone marrow?
a. Inside portion of a bone b. Outer portion of a bone
c. Both (a) and (b) d. None of these

How many pairs of ribs do you have ?

a. 12 b. 14

c. 10 d. None of these
Living things need air to?

a. Breath b. Play

c. Fly d. None of these

Plants need for photosynthesis?

a. Carlon-di-oxide b. Water

c. Sunlight d. All ot them
Animals depend on plants for?

a. Shelter b. Food

c. Oxygen d. All of these

are carnivores?
b. Rabbit
d. None of these

Lion, Tigers and
a. Wolves
c. Goat
is goal for nature.
. Albrestation
. Both (a) and (b)

Insects, wind or water are agents of?

b. Deforestation
d. None of these

o

a. Pllination b. Reproduction
c. Both (a) and (b) d. None of these

Which bird is a pollinator?
a. Humming bird b. Crow

c. Parrot d. All of these

What is the main parts of excretory system?

b. Heart
d. None of these

a. Kidneys
c. Liver
__ Carries oxygn and carbon di oxide?

a. Blood b. Heart
c. Water d. None of these
What is Mahatma Gandhi called?

a. [ron man of India  b. Father of Nation

c. Ideal Man d. Godman
Name the folk dance of Assam?

a. Garba b. Bihu

c. Bidesia d. Kuchipudi

15.

16.

17.

18.

19.

20.

21.

22,

23.

24,

25.

26.

Name one heavy metal?
b. Gold
d. Copper

a. Iron
c. Silver

Name the 4th planet of our solar system?
a. Vensus b. Jupiter

c. Mars d. Mercury

30th January is celebrated as:
b. Martyr’s day
d. Non-Voilence day

a. Environment day
c. Women's day
Name the largest river in the world?
a. Nile
c. Ganga
Where is Gir National Park located?
b. Karnataka
d. Indus

b. Amazon
d. Indus

a. West Bengal
c. Gujrat
Which animal can live without drinking water
for many days?
b. Camel
d. Crocodile

a. Tiger

c. Rhinoceros
Identify the kinds of nouns for the underlined
words:
I can see a father in the kind man

a. Common noun b. Abstract noun

c. Proper noun d. Collective noun

Kalidas is called the Shakespeare of India.
a. Common noun b. Abstract noun

c. Proper noun d. Collective noun

Give the collective nouns of the following
nouns.

Lions
a. Pride b. Flock
c. String d. Bob
Island
a. String b. Flotilla
c. Archipelago d. Bunch

Choose the nearest meanings of the given
words.

Placid
a. Clear b. Calm
c. Enjoyable d. Dull
Spite
a. Concern b. Admiration

c. Indifference d. Malice

Choose the correct form of the adjective
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27.

28.

29,

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

Of the two boys he is .
a. tall b. the taller
c. the tallest d. taller
He is too to be spoofed easily.
a. kind b. intelligent
c. drab d. naive
She is he.
a. equally intelligent as b. elder than
c. as tall as d. senior than
Choose the correct prepositions
He is good mathematics.
a. at b. in
c.on d. with
My pen is similar your pen.
a. to b. of
c. with d. for

Choose the conjunction.

I understand your problem,
cannot help you in anyway.

I'm sorry I

a.and b. as
c. but d. for
Study hard you should fail.
a. and b. as
c. lest d. else

Fill in the blanks with correct alternatives

Of the three cars this is expensive.
a. less b. the less
c. the least d. of lesser
Choose the relative pronoun :
He is the only man comes here.
a. that b. who
c. which d. as

Choose the proper Antonym for the given word
Plentiful
a. Ample b. Tiny

c. Huge d. Meagre

Fill in the blanks with the correct options

The prisoner was

a. hang b. hung

c. hanged d. hanging
Find out the meanings of the Idioms
It is high time we

a. should play b. played

c. need to play d. must play

Fill in the blanks with correct alternatives
Let us play, ?

40.

41.

42,

43.

44,

45.

46.

47.

b. shall we
d. should you

a. should we
c. will you
Answer the following Rearrangement

A. size of the fault and the amount of slip on
the fault,

B. the size of an earthquake depends on the

C. scientists can simply measure with a
measuring tape

D. but that’s not something

a. BADC b. BCAD
c. BDCA d. CBDA
Find out the missing number ?
5 7 8
5 ? 4
4 6
a. 8 b. 7 c9 d. 6
Find out ‘the missing number ?
5 8 7
5 W9 8 v9 11 ? /5
a.5 b. 6 c.7 d. 8

How many triangles are there in the figure
given below?

<=

a. 16 b. 22 c. 28 d. 32

Count the number of triangles in the following
figure.

a. 12 b. 18 c. 22 d. 26
Find the missing number ?
0,28, 14, , 34

a. 18 b. 20 c. 22 d. 24

Select the alternative in which the specified
components of the key figure (X) are found

Q. A9 A3
viol

¥ § 1
KWI|toz2[4 eloC
(X) (1) (2) (3) (4)
a. 1 b. 2 c. 3 d. 4

Find out the alternative figure which contains
figure (X) as its part.
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I 55. M is the sister of K D is brother of K. F is the
‘ A ‘ | AN mother of M. How is K related to F?
a. Son b. Daughter
) M @ ®) @) c. Son or Daughter  d. None of these
a. 1l b. 2 c.3 d. 4 56. Choose the word which is least like the other

48.

49,

50.

51.

52,

53.

54.

Two positions of a dice are shown. When 4 is
at the bottom, what number will be on the top?

1/ 1
3 2 5 :
(i) (i)
a. 1 b. 2
c.5 d. 6

Pointing to a woman, Abhijit said, “Her

granddaughter is the only daughter of my

brother.” How is the woman related to Abhijit?
a. Sister b. Grandmother

c. Mother-in-law d. Mother

Pointing to a photograph Lata says, “He is the
son of the only son of my grandfather.” How is
the man in the photograph related to Lata?

a. Brother b. Uncle

c. Cousin d. Dataisinadequate
Rahul put his timepiece on the table in such a
way that at 6 P.M. hour hand points to North.
In which direction the minute hand will point

at9.15 P.M. ?
a. South-East

c. North

b. South
d. West

Choosethealternative whichis closely resembles
the water-image of the given combination.

D6Z7F 4

(1) DeZ\ke+ (2) desid+<
(3) DeS\AE+ (4) dexs /44
a. 1 b. 2

c. 3 d. 4

Identify the figure that completes the pattern.

7 77 I B =
m o o o

d 4

X)

a. 1l b. 2 c.3

What should come in place of question mark (?)

in the following number series?
3,15,7,63,99,143
a. 27 b. 35

c. 45 d. 56

57.

58.

59.

60.

41.

42,

43.

44,

words in the group.

a. Cheeta b. Lion c. Leopard d.Bear

‘Pencil’ is to “Write” as ‘Knife’ is to—

b. Pee c. Chop d. Attack

A clock strikes once at 1 O’ clock, twice at 2 O’

clock, twelve times at 12 O’ clock. How

many times will the bell strike in course of 2

days ?
a. 78

a. Injure

b. 264 c. 312 d. 144

What should come in the place of (?) in the
given series ? ACE, FGH, ? , PON

a. KKK b. JKI c. HIH d. IKL
Which of the following symbols should replace

the question mark in the given expression in
order to make the

expressions ‘K < H and ‘M > ]’ definitely true?
H>I=]J?K<L<M

a. > . <
c. Either <or < d. =
AT T Yo o7 |
5 7 8
5 ?
2 4 6
a. 8 b. 7 9 d. 6
ﬁcﬂwnmﬂﬁ?sﬂ«nﬁw\m
W%WW@W?
a. 16 b. 22 .28 d 32
fwferfas org fagrea s steml 39 |
a. 12 b. 18 c.22  d. 26
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45,

46.

47.

48.

49,

50.

51.

52.

R o7 I 0,2,8,14, 34

a. 18 b. 20 c. 22 d. 24
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61. Place value of 7 in 57930 is 71. The LCM of two co-prime number is 176. It one
a. 7000 b. 700 number is 16. Find the other number.
¢. 70,000 d. 7 a. 33 b. 22 c. 11 d. 44
62. One fifth of a one million 72. The HCF of two numbers is 6 and their LCM
144. If one of the number is 36. The other is
a. 5lakh b. 2lakh a. 24 b. 25
¢. 1lakh d. 4lakh c- 26 d. 28
. . . o
63. How many five thousands are there in One lakh 73. Which of the following number is composite?
a. 30 b. 20 a. 11 b. 31
c. 41 d. 81
c.50 d. 10
74. Which of the following is a factor of 51?
64. 65839 x 627 =
a2 b. 3
a. 41280153 b. 41281053
c. 4 d. 5
c. 41280143 d. 4128203
75. Ram drew a rectangle that was 3.4 cm wide &
65. 82754380-10817593=____ 7.1 cm long. Find the area of rectangle
a. 42624147 b. 4242624147 a. 3.7 cm? b. 10.5 cm>
c. 71936787 d. 719426787 c. 21 cm? d. 2414 cm?
. —OIoneyear . atan planned to cut a cm length of strin
66 112 f 76. R pl d 120 cm length of string
into 2.4 cm lengths. Find the greatest number of
a. 1 month b. 6 months 2.4 cm. lengths Ratan can cut
c. 4 months d. 3 months a. 5 b. 50
4 5
67. Value of g+7is c. 0.5 d. 0.05
25 N 77. Rima ran 5000 cm from school to the bus stop.
* 28 i How many meters did she run?
a.5 b. 50
c. 20 d. 20
7 35 c. 5000 d. 500,000
68. Reciprocal of 1E 78. Which set of numbers is listed from least to
10 ! b I greatest? . |
& : a. (05,075, 1) b. (075,05, )
7 3
¢ 3 4 10 c. {I, 0.5, 0.75) d. {%, 0.75, 0.5}
69 (gxij—§+l o 79. Rama said that 30% of her students received
\4027) 9 4 a grade of A on the math test. Which decimal
2 3 number is equivalent to 30%
a. 0 b. = c. d =
3 2 a. 0.03 b. 0.30
3.7 0.33 d. 3.00
. +20+5+ —+——="? ¢. U - 9.
70. 400+20+5 10 1000
80. HCF of 190, 171 and 152 is
a. 425.037 b. 425.307 a. 18 b. 19
c. 4205.3 d. 4250.37 c. 20 d. 21
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